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g 4z T | prss | smes B 7 F B A
11| 18 M | 10050 m=| 665.0 = | 340 | 4675 /= ( 14L)| 2850 m ( 14I) | 2525 = (1 4L)
2 | dt M | 860.0 s=| 490.0 = | 370 =| 4075 = ( 24I)| 2025 = (2 4iI) | 2500 = (2 i)
36 A ™ | 7050 &| 3550 & | 350 5| 385.0 & (3 fi)| 1575 6 i) | 162.5 &= (4 fir)
4 fu| ¥& B | 5925 M| 3225 & | 270 | 2200 & (6 £i1)| 185.0 4 4i1) | 1875 & (3 fir)
56f &= M | 5325 &| 2725 & | 260 5| 2075 A (8 4i1)| 1925 341) | 1325 & (6 i)
6 67| K M | 5025 | 2025 s | 300 s 295.0 s ( 44u)| 1125 & ( 12 41) | 950 &= ( 10 £1)
7 6L & M | 4725 | 2225 s | 250 s 190.0 s ( 9 {u)| 1575 & ( 6 4L) | 1250 &= (8 fi1)
8 | % ™ | 4600 &| 1900 = | 270 | 175.0 s ( 10 42)| 1525 & ( 8 L) | 1325 &= (6 f1)
9 x| | 4175 & 1975 & | 220 &| 1675 = ( 12 fi1)| 1825 & 54) | 67.5 & ( 15 {ir)
10 62| % M | 4150 =] 2050 = | 210 | 2625 = ( 54u)| 1100 /= ( 13 46L) | 425 &= ( 21 £1)
11 G| M | 3850 m| 165.0 /| 220 m| 2125 = ( 74L)| 300 = ( 27 4i1) | 1425 = (5 4D)
12 2| K M | 365.0 m| 1450 = | 220 | 1500 = ( 14 61)| 1200 = ( 11 41) | 95.0 = ( 10 L)
13 61| = B | 3575 m| 1075 = | 250 | 137.5 /= ( 16 4i)| 130.0 & ( 9 46L) | 90.0 &= ( 12 £1)
14 4| £R M | 3350 M| 1050 = | 230 /| 1500 = ( 14 40)| 1225 = ( 1041) | 62.5 = ( 16 £L)
15 fi M | 300.0 s| 1300 s | 170 s| 175.0 =1 ( 10 4iz)| 85.0 & ( 14 £1) | 40.0 = ( 23 £i1)
16 i M | 2775 & 975 | 180 m| 157.5 s ( 13 4)| 80.0 & ( 154L) | 40.0 &= ( 23 fi1)
17 42 M | 2625 | 825 | 180 m| 1325 m ( 1741)| 725 /M ( 16 1) | 57.5 &= ( 18 fi1)
18 i | 2575 & 4754 | 210 | 1225 & ( 21 fi2)| 600 & ( 22 61) | 75.0 &= ( 13 £1)
19 fif B | 2475 =] 375m | 210 m| 125.0 s ( 20 fiz)| 70.0 &= ( 18 1) | 525 = ( 19 £i)
20 fi H 2225 || 625 = 160 =] 1200 = ( 22 fi1)| 625 = ( 20 fiz) | 40.0 g ( 23 {i)
21 {iz M | 2150 =| 650 = 150 &| 1275 & ( 1941)| 675 2 ( 19 40) | 200 = ( 29 £f)
21 {iz m | 2150 =| 250 = 190 | 80.0 & ( 29 41)| 725 & ( 16 fir) | 625 s ( 16 L)
23 | K m | 2125 =] 625 = | 150 m| 1125 ;= ( 26 fiz)| 525 &= ( 23 61) | 475 &= ( 20 £i1)
24 fi1| ZE BB | 2000 #| 600 s | 140 | 60.0 = ( 31 4z)| 30.0 & ( 27 £1) | 1100 & (9 £1)
25 | H M o| 1975 /| 175 | 180 | 950 m ( 27 fi)| 625 £/ ( 20 fi1) | 40.0 = ( 23 £i1)
26 | & ™ | 1825 &| 925 & 90 | 875 & ( 281i1)| 200 & ( 29 61) | 75.0 & ( 13 fi)
27 fiz| M | 1800 s| 800 s | 100 m| 117.5 s ( 254z)| 525 & ( 23 61) | 10.0 &= ( 35 £i1)
28 £l S 7] 170.0 m| 800 = 90 =| 1300 = ( 18 fz)| 200 = ( 29 fiz) | 20.0 = ( 29 {i)
2941 & Al T | 1450 m| 250 = 120 m| 525 s ( 33 fiz)| 50.0 25 fi1) | 425 & ( 21 L)
04z| A JII BB | 1400 &| 400 & | 100 s 1200 & ( 22 41)| 0.0 & ( 38 461) | 200 & ( 29 fi1)
31 fz| B8 & AP | 1300 =| 700 = 60 m| 120.0 = ( 22 fiz)| 10.0 & ( 35 £L) 0.0 & ( 37 fi1)
24 & F A | 1200 =] 300 = 90 | 80.0 & ( 29 1%)| 200 = ( 29 1) | 200 & ( 29 i)
Bzl B A T | 1100H| 00| 110 | 50.0 s ( 34 4L)| 200 & (29 1) | 40.0 &= ( 23 £i1)
K7 ivA VAN - SR - 900 m| 00 = 90 | 500 & ( 34 61)| 200 s ( 29 i) | 200 = ( 29 L)
Bl = K OB 85.0 | 250 = 60 | 425 & ( 3711)| 325 & ( 26 61) | 100 & ( 35 fi)
<L ] I R || I+ 800 &| 00 80 =| 400 & ( 38 41)| 100 s ( 3541) | 30.0 & ( 28 fif)
39| = W T 700 =| 00 = 70 | 60.0 = ( 31 4)| 10.0 & ( 35 L) 0.0 & ( 37 £i1)
37461 = H A 700 =| 100 = 60 m| 50.0 = ( 34 fir)| 20.0 = ( 29 fi) 0.0 & ( 37 i)
96 BN T 500 M| 00 = 50 m| 30.0 & ( 40 4iz)| 0.0 & ( 38 4L) | 200 &= ( 29 fi1)
o6 7 FE O 325 M| 125 20 =| 325 s ( 3940)| 0.0 = ( 38 £1) 0.0 & ( 37 fir)




